B B

ARE QMBS BRI EE) 13, MFEELD
HEMZERL, 0586 (£E10AL) &7%0E L7
A EREIC D 2 BBEG (P 9 ) I3,
297% (ZE11L) &%, FEEID06RA b
DRPERDFE L. T2, HAFBRBREROHE
(F4EEE) &, 90.9% ([43f0) &7V, BIFEEL
D8RA Y MOHEMERY T L7
BB FE B - B B B & B R R
THRLTER SN DT, M AKFEGKOR
B0 2 RITIEE
XM EHESOE G - U FEEORNRERE
LEEROMAERAEREOLE,

BAREHREC S5 DEHEFEHOEE (PROFE)

. M 50~
[@ 40~50
] 30~40
] 20~30

! [] 10~20

| BT %

MtsEAEgEt R (BaE) &D

o
32



B
5

33

29 MEIIEE

_ (Bfr :—)
e iz mE R B & BB E
1 R = B 1.073
2 = Hl =8 0.965
3 K 5573 ¥ 0.934
4 W& B 0.931
5 i i 128 0.767
6 e * I 0.727
7 T E 128 0.720
8 & JEE =8 0.608
9 P #B JiF 0.602
10 R w, 2 0.586
11 jﬁ_ 5 5 0.581
12 1@ i 128 0.580
13 i ZS o8 0.567
14 I B =8 0.548
15 g % 15 0.543
16 i3 7 15 0523
17 = = =8 0.522
18 53 B o8 0.520
19 £ i 15 0.486
2 3| 0.481
20 yal I 15 0477
21 | 1L =8 0473
22 & =] 15 0.462
23 ) & 128 0.450
24 & I o8 0.432
24 1 | =8 0.432
24 = ) 15 0.432
27 B 1 15 0.426
28 %= B =8 0.402
29 it i & 0.396
30 i ey 15 0.379
31 %= 1% =8 0.376
32 RE N =3 0.359
33 1k = 1B 0.335
34 i} i =8 0.324
35 X o 128 0.318
36 Mo o B 0.316
37 B R B B 0.309
38 = F I 0.305
39 Fx H 128 0.298 -
40 E i3 15 0.296
41 F # 12 0.294
42 i = 15 0.287
43 = Iz =8 0.285
44 5 b4 12 0.259
45 b b o8 0.256
46 B i) 15 0.240
47 = pall |58 0.223
TR OEE (FH7 ~ 9 FREFH) G DI
X 2EMEIESE, BHER 74 8 4

TORHERT M RBOREHER (HERE)

1161 111

30 EAKREICED L EBEE
(BAT %)
E {7 B B & & & fE
1 B o #R 64.8
2 W= ) & 55.6
3 E H 8 50.2
4 N 553 Wi 475
5 B [l o8 38.8
6 =+ £ 8 37.6
7 B X =8 374
8 wn B Vs 34.7
9 & fitl 15 32.1
= 3| 31.9
10 i} R 8 30.0
11 /3 77 B 29.7
12 B 5 I3 29.4
13 = & =8 29.2
14 7 5 o8 29.0
15 i JEE 2 28.6
16 = W o8 285
17 53 B o8 27.7
18 3 " 15 26.3
19 ] 1 o8 255
20 = g 128 235
21 & B 15 23.3
22 yal i 3 22.9
23 = 1L 15 22.0
23 %= B 15 22.0
25 o % 15 215
26 i I =8 21.1
27 il | 18 20.5
27 & Nl 15 20.5
29 % % B2 203
30 i S 15 186
31 = i B 18.1
32 i3 B o8 17.2
33 Mmoo o B 16.0
34 X ol 7 15.8
35 i} % o) 15.7
36 e PN 17 15.3
37 E Iz 12 145
38 H & o8 14.2
38 % H 28 14.2
40 E=1 F 17 14.1
40 =] W 15 14.1
42 E R B B 13.9
43 & = 28 136
44 i i IS 13.1
45 B B 15 129
46 = i3 15 11.0
47 = gl 53 104
o R B RO
SR AR - ARSI X100 [6w [ 1% | 8%
R BABERIER (58 [ [ wofr | o8t

34



31 WHHBEREOEHE 32 ERB (1 ADZY)

(B : 9%) (BAL - FH)
e ir i E KB Z & = B e fir B Ky B & B E
1 Lo JE = 142.0 1 " 7 #h 201.8
2 X 173 JiF 1383 2 I | - 138.1
3 K Lig o3 1375 3 % il o8 1355
1 E 1 128 132.2 4 x 53 ¥ 128.2
5 % B 8 129.1 5 T+ 3 =8 1135
6 il 1L 17 121.1 6 & B 12 1118
7 = b4 IR 120.8 7 i i 15 110.5
8 i fiE] 7 120.0 £ E3| 110.3
9 E bl 128 1186 3 w® R ¥ 110.2
10 wWoZ& o B 116.1 9 5 ES IR 109.8
11 K i 158 1159 10 % B 15 106.0
12 Fk H o8 115.7 11 %= B o8 104.3
13 1 Ed o 115.6 12 B 1 15 102.9
14 yal N 15 114.1 13 & It o8 101.5
15 il A 15 113.0 13 Ik = o8 1015
16 bt B 15 1115 15 pal Nl =8 100.3
17 & * 15 111.3 16 = & o8 99.6
17 i = 15 1113 17 & Nl = 99.0
19 It i3 & 1112 18 0] VN ) 95.7
20 BE R B B 110.6 19 £ Lisg =8 943
S 3| 110.3 20 /3 B 2 94.1
21 & fi] o8 109.9 21 53 B 1= 94.0
22 Hr s 15 108.8 22 B B =8 92.3
23 B 3 128 108.7 23 =4 K 15 92.2
24 = Hn o8 108.0 24 i B =8 90.6
25 I = 1123 107.4 25 &l 1L 15 89.9
26 & ¥ 15 107.3 26 & il 12 335
27 i3 " IR 107.1 27 1L | 128 85.9
28 B I 15 106.0 28 Eel) & JI=8 84.4
29 H #B ¥ 105.1 29 o o B 82.2
30 5 i o8 104.1 30 ik i3 B 81.9
31 + - 15 103.7 31 & 5 o8 80.8
32 "’ " #R 102.7 32 % 1% 15 79.2
33 H # 15 1014 33 B B =8 76.7
34 é i 1B 97.6 34 i 5 15 76.3
35 mod o B 97.2 35 = i! 15 74.3
36 = 1% 1= 96.6 36 = | = 733
37 53 B o8 955 37 il % o8 729
38 i} [} =8 95.4 38 N ol o8 72.3
39 B 1S 1B 95.0 39 1k B 8 70.3
40 = ® 28 94.7 40 & F 23 69.8
41 b K =8 94.3 41 = I3 B 68.5
42 1k B o8 935 42 Re N =8 68.1
43 /3 b 2 90.9 43 % H 15 67.9
44 Ficd 5 15 90.1 44 H e o8 64.8
45 E % o8 894 45 E R B B 62.7
46 & 5 12 88.7 46 = IF3 =8 62.6
47 Pl 8 2 87.5 47 Pl ik 158 515
TR 9 4R B E DI RO R (it £ O IAfL)

B A S AR < RIS X 100 6% | 1% | 8% i3 R ERBIE:RAD, B THHEReH | 6% | 14 | 8%

TR HAMEGAEE (HiR) wie | i | ok TRHEBT M EREER (BEE) 2o | 18t | 18k

36



33 HEABBUINRERE (1 AHLD) 34 RHRERE (1 AH720)

(BAL FH) (BAL 1 FH)
[ TE fir A6 B HF IR BB E B {ir # B B % & & &
1 ®’ w R 3183 1 5 i =8 1,434.7
2 X 553 ¥ 131.9 2 = gl =3 1,324.9
3 = il o8 93.9 3 B B =8 1,2439
£ = 83.4 4 & = =8 1,1515
4 B i 8 82.8 5 58 H L8 1,142.2
5 5 i 18 70.6 6 | i bl 1,142.1
6 78 B o8 68.5 7 = F I8 1,139.3
7 E #B K 65.3 8 & I o8 1,132.1
8 bl Jl 18 64.2 9 BE B B B 1,061.5
9 & I 15 64.1 10 & Fo3 =8 1,050.6
10 = b4 L8 635 11 i £ 128 1,032.5
11 K B =8 63.3 12 E W o8 1,027.4
12 & ] 1= 60.9 13 i i =3 1,023.3
13 i & 128 59.5 14 = I3 B 1,007.2
14 53 B o8 57.0 15 pal il 1= 1,004.8
15 R’ i L8 56.1 16 x 7 B 992.3
16 [ | =1 544 17 ook o B 992.0
17 ik 2 & 54.0 18 e N 18 990.3
18 B & 128 53.0 19 # & =8 983.0
19 fiE] i o8 52.6 20 £ g =8 9784
20 E 1% 15 50.1 21 1k B L8 9755
21 B B 15 50.0 22 1 O =3 9439
22 i i o8 483 23 B i} 18 9433
23 i el 128 478 24 & I = 9420
24 i 0 =8 478 25 b b =8 919.0
25 = iy =8 459 26 K B =8 899.4
26 iz =] 15 450 27 i 1% 7 888.2
27 & k) o8 44.1 28 " = %8 885.4
28 il A =8 438 29 & B 15 885.3
29 & 5 15 42,9 30 i} 1L 1B 861.1
30 5 s 15 429 31 . 7 o8 859.1
31 = H [ 423 32 I g JI=8 839.5
32 = R o8 418 £ 3| 832.2
33 X N 1=8 408 33 = B =8 803.8
34 # B =8 405 34 B E JI=8 803.6
35 3 15 2 40.4 35 q 54 o8 799.2
36 Fk H o8 404 36 53 B I3 797.8
37 M & W & 38.8 37 & | =8 767.6
38 5 & o8 38.1 38 %= B o8 765.8
39 RE %N 15 38.1 39 = #B HF 758.1
40 1k 7" 15 375 40 b7} K =8 748.3
41 BE R B B 37.3 41 & 15 = 735.7
42 E I o8 371 42 X 573 5 7124
43 = I3 15 357 43 B i) =] 700.8
44 B ES 12 35.6 44 % Ll 18 697.7
45 i i 123 346 45 W o R 581.1
46 T+ = 128 326 46 = 3 I=8 576.9
47 %= B =8 285 47 % % =4 540.9
Tk 9 (3t % W) 19 R eI

O X ERBUARERE T RAD 64 | TH | 8% G5 R RMRIERE BAD B-TAHEEET | 6F | 7F | 8%

TR ERTRAERE (ERUT) i | o | 34 RHEAT M ECRE R (HEY) 2 | e | a

37 38



	032
	033.034
	035.036
	037.038

